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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

Answer the following : 1x7=7

e 2EPTIRE Oed Tl 8
(i) What do you mean by 1 weber ?
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(i) What are polar molecules ?
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@iii) What is the unit of electric flux ?
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(iv) Find the curl of the vector
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v) What : N s sy e 4
. e.m.f. ;S the basic cause of ‘induced
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(vi) Which physical quantity is conserved

/Ogmn c\ in the equation of continuity ?
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1 ]Game an electrical device which does
/not obey Ohm'’s law.
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Answer the following :
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2x4=8

(i) Evaluate (f_i X f}) . (é X D)
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(i) Show that E=-VV where E and V
represent electric field and potential.
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(iti) What is the physical significance of the
divergence of a vector field ?
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(iv) Write two properties of paramagnetic
substance.
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Answer any three of the following :
5x3=15
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(i) State reciprocity theorem for mutual
inductance of two current circuits.
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(i) State and prove Gauss’s theorem of
electrostatics.




(i) Find the expression for the capacitance
of a spherical capacitor.
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(iv) Define intensity of magnetization,
magnetic susceptibility and
permeability. Give the S.I. unit.
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. v) A current of 5A produces a flux of

% Cookan Co/,e&& x10~3 Wb through a coil of 9500 turns.
L /ﬁ_\uﬂetlculate the self-inductance of the coil.
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4. Answer any three of the following :

10x3=30
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(i) State Biot-Savart law. Using Biot-Savart

laW, calculate the value of magnetic

field due to an infinitely long straight

wire carrying a current ; amp at a
distance a from the wire
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(i) Define the three electric vectors P, E

and D. Show that D=g,E+P. Also

give the units of D and P.
3+5+2=10
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(i) Write the Maxwell’s equationsof
electromagnetic wave. Find the

electromagnetic wave equation ¢ .

propagating through vacuum and.. ®
calculate the velocity of electromagnetic
wave in vacuum. 3+4+3=10
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(iv) Deduce the Gauss’s law in dielectric.
Give the physical significance of
dielectric constant of a medium.

6+4=10
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(v) (a) Find grad ¢ at the point (-1, -2, 1)
where ¢ = x%y+xz
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(b) Prove that A'(BXC)=(AXB)'C

Evaluate curl 7 where

F=ix+jy+kz
4+3+3=10

(-1-2,1) R® §4 Refa 31 70

¢=x%y+xz

(b) e T A-(éxé)z(gxg).é

(c) TSGR Tx7 (et 7)

F=ix+jy+ke
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(vi) Define electric potential. Derive an

expression for the electric potential due
to an electric dipole at its (i) axial line
(ii) equatorial plane. 1+5+4=10
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(i) SRR T (ii) NHEIT weTe Ryye Rieq
ol T Sferéat|

3 (Sem-2/CBCS) PHY HG/RC/G 7 _



